FROM PART-TIMERS TO PROFESSIONALISM

1. The Rugby World Cup involves ... teams and ... players.
a) 12 / 600
b) 20 / 620
¢) 24 / more than 600

2. Why is group A called 'the group of death'?
a) New Zealand is in it.
b) Wales can beat England.
¢) Not all the big teams in it will be able to qualify.

3. The year 2003 is mentioned because it was ...
a) the first time a northern hemisphere team won the competition.
b) the beginning of the Rugby World Cup.
¢) the last time New Zealand were not in the final.

4. What is mentioned as a priority for France in group D?
a) not finishing second
b) beating Ireland
¢) scoring bonus points

5. The video suggests that France can be encouraged by ... results since the 1. |
last Rugby World Cup.
a) recent 2

b) consistent
¢) hardly any

3. |
6. So far ... million tickets have been sold, and ... thousand visitors are
expected.
a) 0.3/50 4- -----
b) 1.3 /150
¢)2.3/450 5
6. |
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